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Mike has a batting average of .325 (which means he gets a hit 32.5% of the time).  If he is up 3 times in a game, find these probabilities:
	P(all hits):
	P(no hits):

	P ( at least one hit):
	P(at least one out):


Kenny gets strikes 91% of the time.

If he bowls three frames, find:

	P(turkey (all three strikes):
	P(at least one strike):

	P (no strikes):
	P(at least one non strike):


If he bowls a full game, which is 12 possible chances for strikes, find:

	P(perfect game (all strikes):
	P(no strikes):

	P (at least 1 strike):
	P(at least one non-strike):


Kevin is playing basketball shooting.  He is fouled making a 3 points.  He makes 72% of his free throws and gets three shots.   Find

	P(he makes all 3):
	P(he makes at least 1):

	P (he makes none):
	P(he makes at most 2):


Review:

The probability that Jordan wins the swimming portion of the race is 14%.   The probability he will win the entire triathlon if he wins the swimming is 56%.  Find the chance he will win the swimming portion and the race.
The probability that Kenny gets sick is 15%.  The probability that he gets sick and misses school is 2%.  Find the chance that Kenny misses school if he gets sick.

The probability that Wesley gets a summer job is 74%.  The probability that he gets a summer job and it pays more than $10 an hour is 11%.   Find the chance that if Wesley gets a job, it will pay more than $10 and hour.

The probability that Rick is on time class is 48%.  The chance that he passes the test is 84% if he is on time.  Find the probability that he passes math and is on time.

New Material:

The probability that someone smokes in our society is 24%.  The probability that you will get lung cancer if you smoke is 62%.  The probability that you will get lung cancer if you don’t smoke is 4%.  Find the probability that someone will get lung cancer:

The probability that someone gets a college degree is 35%.  The probability that someone earns more than 100,000 if they have a college degree is 28%.  If they don’t the chance is 9%.  Find the probability that someone earns more than 100,000.
40% of students go to Deering.  42% go to Portland.  18% go to Casco Bay.  Of those at Deering 62% are proficient.  Of those at Portland 59% are proficient.  Of those at Casco Bay 81% are proficient.  Find the probability that a PPS (Portland Public School) student is proficient.

American manufacturers sell 34% of new vehicles.  Japanese sells 42%.  European sells the rest.  Of American  vehicles, 42% are trucks.  Of Japanese, 22% are trucks.  Of European 4% are trucks.   What percent of vehicles are trucks?
